$$E_{2} = J \left( \omega_{2} k_{1} + \omega_{3} k_{2} - 2\Delta \right)$$

$$f = k_{1} + k_{2}$$

$$W_{2} (j_{1}, j_{2}) = e^{i k_{1} j_{1} + i k_{2} j_{2}} e^{-\frac{i}{2} \phi(k_{1}, k_{2})}$$

$$-e^{i k_{2} j_{1} + i k_{1} j_{2}} e^{+\frac{i}{2} \phi(k_{1}, k_{2})}$$

$$Periodizing:$$

$$V_{2} (j_{2}, j_{1} + k) = V_{2} (j_{1}, j_{2}) = V_{2} (j_{2} - k_{1} j_{1})$$

$$Periodizing:$$

$$V_{2} (j_{2}, j_{1} + k) = V_{2} (j_{1}, j_{2}) = V_{2} (j_{2} - k_{1} j_{1})$$

$$Periodizing:$$

$$V_{2} (j_{2}, j_{1} + k) = V_{2} (j_{1}, j_{2}) = V_{2} (j_{2} - k_{1} j_{1})$$

$$Periodizing:$$

$$V_{2} (j_{2}, j_{1} + k) = V_{2} (j_{1}, j_{2}) = V_{2} (j_{2} - k_{1} j_{1})$$

$$Periodizing:$$

$$V_{2} (j_{2}, j_{1} + k) = V_{2} (j_{1}, j_{2}) = V_{2} (j_{2} - k_{1} j_{1})$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{1} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k_{2} j_{2}}$$

$$Production = -e^{i k_{2} j_{2} + i k$$

General M < N/2 for any set { i, ..., in}  $\Psi_{M}(j_{1},...,j_{M}) = \prod popu(j_{a}-j_{b}) \times M \ge a > b \ge 1$  $\sum_{p} (-1) = \sum_{a=1}^{m} k_{p} j_{a} + \frac{1}{2} \sum_{M \ge a > b \ge 1} \phi(k_{p}, k_{p})$ This is the Bethe Anoty  $|\Psi_{m}\rangle = \sum_{\xi_{j}} \Psi_{m}(\xi_{j}) 5_{j} \dots 5_{j_{m}} |0\rangle$  $E_{M} = J\Sigma(cosh_{a} - \Delta) \quad P = \Sigma h_{a}$ 

Bothe equation:  

$$e^{i \cdot k_{\alpha}N} = (-i)^{M-1} e^{-i \sum_{a=1}^{M} \varphi(k_{a}, k_{b})} = 2\pi \widehat{T}_{a}$$
  
 $Nk_{\alpha} + \sum_{b=1}^{M} \varphi(k_{a}, k_{b}) = 2\pi \widehat{T}_{a}$   
 $\widehat{T}_{\alpha} \in \int \mathbb{Z}^{+1/2} = M \text{ even}$   
 $Z = M \text{ odd}$ 

-

XXX antiferromagnet 
$$(J>0, \Delta=1)$$
  
Parametrization:  $k = \pi - 2atan 2\lambda$   
reprinties  $> \lambda = \frac{1}{2} \cot \frac{k}{2}$   
Why?  $\varphi(k(\lambda), k(\lambda_2)) \rightarrow \Theta(\lambda_1 - \lambda_2)$   
 $\Theta(\lambda) = 2atan \lambda$   
Botho  $\varphi_1^{MD}$ :  $\left[\frac{\lambda_{a}+i\lambda_2}{\lambda_{a}-i\lambda_2}\right]^N = \frac{M}{b_{za}} \frac{\lambda_{a}-\lambda_b+i}{\lambda_{a}-\lambda_b-i}$   
 $\varphi(\lambda) = \frac{\lambda_{a}+i\lambda_2}{\lambda_{a}-i\lambda_2} = \frac{2\pi}{b_{za}} I_a$   
 $\varphi(\lambda) = 2atan \frac{2\lambda}{N}$   
 $I_a \in \{\frac{Z+i\lambda_2}{Z}, \frac{N-M}{N} \text{ even}$ 

$$E = J \sum_{a=j}^{M} \frac{-2}{4\lambda_{a}^{2}+1} \qquad P = \sum_{a=j}^{M} \frac{1}{i} \ln \left[ \frac{\lambda_{a}+i}{\lambda_{a}} \right] = \pi M - 2\pi \sum_{n=1}^{M} \frac{1}{\lambda_{a}} \sum_{a=i}^{M} \frac{1}{\lambda_{a}}$$

Proper solutions to the Bethe equations: must have distinct rapidities.

(most cases: this translates to choosing different quantum numbers in Bethe equations)

Monde state: at fixed M, Neven  
quantum numbers 
$$I_{j}^{\circ} = -\frac{MvH}{2} + j \quad j^{=1}, \dots, M$$
  
 $M = 5^{\circ} = 0$ 

Allowable quantum was: coupl (q notes)  
For real 
$$\lambda$$
, I cound be arbitrarily large.  
 $\lim_{N \to \infty} 2 \operatorname{atam} 2\lambda_{n} - \frac{1}{N} \sum_{b=1}^{N} 2 \operatorname{atam} (\lambda_{b} - \lambda_{b})$   
 $\lim_{N \to \infty} 2 \operatorname{atam} 2\lambda_{n} - \frac{1}{N} \sum_{b=1}^{N} 2 \operatorname{atam} (\lambda_{b} - \lambda_{b})$   
 $\lim_{N \to \infty} 2 \operatorname{atam} 2\lambda_{n} - \frac{1}{N} \pi(M^{-1}) = 2\pi \pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{1}{N} \pi(M^{-1}) = 2\pi \pi_{M}^{\infty}$   
 $\lim_{N \to \infty} \sum_{m=1}^{N} -\frac{$